[ Efficiency vs vertpos |

—0.05
$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

L
4

+
+

0
1

Ratio

0.9
0.8

7

JARRN RAARS RARE: 2 RARRERRRR] RALL LAARN LAARS RLAN RARLN LARAN LALLE LRSS

T
3

0
10

2 107 1

2

10 0
TP vertr (cr%)

Efficiend

—=— DQM_TT__mkFit-DQM_original-lowpt
—— DQM_TT__mkFit-DQM_updated-lowpt

~n0.02r

XL R S A N
[ F . : :
B.016------ P B IRhI O L
) : ! :

Q o . .

D014 eerieeeeen it

) n : !

§9.012------ Peeeene ] .

0] o : : :

0.02F-----teeeee- IR .

0.008F-++++heev- gt IS | _—

0.008f--<-+------ N1 e Ll

0.004f----- .. ------- SR ,. _______ : .- _______

0.002E - beeeeeefeeebe i L
d ]

[ Efficiency vs. sim PV z |

20

~0.05
>
£0.045F-
£
S0.04F
9.035F
3
20.03F
k)
@.025F
[J]
0.02F
0.015F
0.01

0.005

o k
(=)
TITITTTT

0.95F-

0.9E

%0 =15 -10

510 15 20

Sim. PV z (cm)



	Contents
	Page 1


